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FER24F5 A RMMHEE IR

FRH224 =100

L = 37 2L —
B & 100.3 -0.1 0.3
BH 100.2 0.4 0.4
ESE ] 101.7 -04 1.8
B 100.6 -0.3 -0.1
Sk 98.5 -0.5 0.3
FLON%E 98.8 0.0 -4.4
BHE-EE 97.5 -0.8 35
L) 110.0 10.2 0.4
SHAE - SRR R 98.5 -0.3 -0.8
E¥55 98.3 0.1 -1.4
FER M 101.1 0.1 1.3
arxt 99.6 0.0 -0.5
Eg 100.2 0.0 0.1
100.3 0.4 0.4
=B 98.7 -0.1 -0.5
xE 98.5 -0.1 -0.6
RIEELE - M 100.9 0.0 1.0
S K 107.4 0.1 47
B 106.3 0.0 5.0
HAK 106.8 0.9 5.4
DS 128.6 -1.7 0.0
L+ TFKEH 104.7 0.0 4.7
XE-XEHAm 98.0 -0.9 0.6
R R A 94.5 -3.1 -28
EHNEHFER 85.8 14 -5.8
EEf 111.3 0.0 7.1
REHE 104.3 -0.4 6.6
REREEM 97.2 0.0 0.0
REH—EX 99.5 0.0 0.0
HiRkEUVEY 99.3 1.2 0.0
~# 103.4 -1.2 -0.3
Y t—R—TEHE 98.4 -1.5 2.9
B 89.7 -0.9 -6.3
fthDMKAREE 98.4 0.6 1.5
FARESEH—E X 98.1 -2.1 -1.1
REERE 98.5 -0.1 1.7
EEL-EREARFAERS 98.4 0.7 -28
REERRAR-FE 94.5 -1.7 -4.0
{ BH—EX 100.1 0.0 -0.1
RE-RE 103.4 -0.9 0.3
B3] 100.9 0.3 0.3
BEEFHERE 105.7 -1.6 0.5
BiE 99.7 0.0 0.1
BE 94.3 0.0 0.7
REHSE 95.2 0.0 1.0
HEE-FESEEM 102.7 0.0 2.6
HEHRE 92.3 0.0 0.0
S E-JTES 96.1 0.5 —0.4
HE I E A AL 79.1 -0.2 -15
HEIREE R 94.2 -25 -1.6
S5 -thDENRIY 100.8 0.1 0.5
HBPEHG—ER 99.4 1.8 0.0
ETIE 104.0 ~0.3 0.0
BERY—EX 99.4 0.0 0.0
NS 98.2 -1.1 -0.5
SNEYARK 101.8 -0.3 1.1
=1EZ 126.2 0.0 0.0
hDEME 105.2 0.0 0.0
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VK2 24F=100

£ B OB & £ O A It A O B X £ B RE WY
xR A | BT XTRTA | R ETEE xRl A | BT XTRA | R ETEE
FH|E XK (AA) | ¥ % (RA) | ¥ % (RA) | ¥ % (RA)
LR® LR=x LE® LEx LR® LR=x LE® LEx
(%) | (%) (%) (%) (%) | (%) (%) (%)
VA b 446 147 178 120
£ B
184% 99. 3 0.7 109.9 2.8 92.6 -1.6 96. 0 1.2
194 99. 4 0.1] 107.7 -2.0 90.7 -2.0] 102.2 6.4
204F 100. 3 0.9| 116.5 8.1 90.9 0.2 93.9 -8.1
2148 95.7 -4.6| 102.9 -11.7 91.6 0.8 92.7 -1.3
224F 100. 0 4.5 100.0 -2.8] 100.0 9.1 100.0 7.9
234 99. 4 -0.6| 100.8 0.8 97.0 -3.1] 101.1 1.1
A Al

22/5 101. 2 -0.7 -1.0 96. 5 -5.1 -8.6| 101.4 -5.3 5.9 106.5 13.0 -0.8
6 97.6 -3.5 2.8 97. 7 1.2 -8.2 91.3 -9.9 10. 3| 106.8 0.3 8.0
7 94. 6 -3.1 4.0 100.0 2.3 -7.8 91.7 .4 18. 4 92.4 -13.5 3.1
8 101.9 7.7 .71 107.6 7.7 4.7 97.5 .3 -2.2| 101.5 9.8 11.3
9 103. 8 1.9 14. 3] 100.3 -6.8 .4 108.4 11.2 11.6] 101.5 0.0 30.3
10 102. 0 -1.7 20.0 94.1 -6. 1 -7.3| 112.6 3.9 33.7 96. 1 -5.3 41.8
11 104. 4 2.3 21.9| 101.5 7.8 5.2 108.6 -3.6 33.5( 101.9 6.0 31.1
12 100. 8 -3.5 10. 3] 101.3 -0.2 -0.5 97.3 -10.4 12. 2] 105.3 3.4 23.6
23/1 105. 6 4.7 9.4| 105.8 4.4 2.7 100.1 2.9 6.2 113.4 7.7 23.4
2 103.5 -1.9 7.5 95.5 -9.7 -0.3| 102.1 2.0 1 115.4 1.8 15.6
3 102. 3 -1.2 3.4 98.5 3.1 -1.9 99.5 -2.6 4.1 111.3 -3.6 8.9
4 99. 2 -3.0 -2.6| 102.4 4.0 .6 98.0 -1.5 -8.5 97.1 -12.7 3.1
5 100. 1 0.9 -1.0[ 103.1 LT .8 91.1 -7.0 -10.1] 109.8 13.1 3.1
6 98.8 -1.3 1.3 98.3 4.6 .6 94. 2 3.3 3.1] 106.3 -3.2 -0.4
7 102. 6 3.8 8.4 108.7 10.5 .8 98.2 4.3 7.1 101.5 4.5 9.9
8 98. 6 -3.9 -3.3| 112.0 3.0 4.1 89. 4 -8.9 -8.2 95.6 -5.8 -5.8
9 94. 2 —4.4 -9.3 97.9 -12.6 -2.3 98. 1 9.7 -9.4 83.8 -12.3 ~-17.4
10 102.9 9.3 0.9 94.5 -3.5 0.4 115.2 17. 4 2.3 95.1 13.4 -1.1
11 91.4 -11.2 -12.5 94. 1 -0.4 -7.3 91.3 -20.8 -15.9 88.2 -7.3 -13.5
12 93.2 2.0 -7.5 99. 2 5.4 -2.1 86. 2 -5.6 -11.4 96. 2 9.1 -8.7
24/1 107. 4 15.3 1.8 104.2 5.0 -1.5] 105.6 22.5 5.5 114.1 18.6 0.6
2 105.9 -1.4 2.2 98.2 -5.7 .8 105.6 0.0 .3 115.7 1.4 0.3
3 106. 8 0.9 4.4 103.1 4.9 4.7 103.6 -1.8 4.2 116.1 0.3 4.3
4 99. 4 -6.9 0.2 103.0 .0 L7 96. 2 -7.1 -1.8 99.6 -14.2 2.5
5) 101. 3 2.0 1.2] 102.5 -0.6 -0.6 94. 7 -1.5 4.0 109.7 10. 2 -0.1




(f5%0)

120

110

100

90

80

70

(%0

120

80

70

£HER
EK224F =100

B AT

(€i-1-9) Z'Z].jzzzﬂ5=1oo
120
110
@)
e O
o-. . M
jg\ M S 100 |
x O e .
o . »
([ 4
90 +
80
A 70
12 4 5 6 7 8 9 10 11 12 1 2 3 4 5 6 7 8 9 10 1 12®
a1 ERERY
ERE22F =100 T FRk22%F =100
120
110
100
90
\. ‘u’
80
70 . .
12 4 5 6 7 8 9 10 11 12 (02)) 1 2 3 4 5 6 7 8 9 10 11 12 A
—a—22F -- @ --235F O 245




BET 10 x & B B X

Rk 2 2%=100
& ® *t = & B - KE | RE-FEAS | R KOG BY
*IBTA %A *FRTA | XRTeE *IBTA | %ATE XHRA | RERTEE XHRTH | XA *HRA | RERTEE
£H | & (RA) |8 % (FA) |8 %% (RA) |18 % (FA) |8 %% (RA) |8 % (FR)
LE® LR#® LR#® LA® LE® LR#® LR#® LA® LE® LR#® ER® LR*®
(%) (%) (%) (%) (%) (%) (%) (%) (%) (%) (%) (%)
Peq 10000 2667 2081 756 329 417
184F [[100. 8 -0.4 ]96.9 -1.3 |103.9 -0.5 195.3 4.4 [111.5 -2.4 193.2 2.2
194F [ 100. 6 -0.2 |97.1 0.2 |102.1 -1.7 | 96.7 1.5 [109.6 -1.7 | 96.8 3.9
204 [1102. 4 1.8 |100.2 3.2 |102.5 0.4 |104.5 8.0 |109.8 0.2 |96.5 -0.3
214F [101. 1 -1.3 [100.5 0.3 [102.5 0.0 |99.9 -4.4 |106.9 -2.7 199.0 2.5
224 1100. 0 -1.1 |100.0 -0.5 |100.0 —2.4 1100.0 0.1 |100.0 —6.4 |100.0 1.0
234 [ 99. 8 -0.2 | 99.8 -0.2 [99.1 -0.9 |103.3 3.3 97.3 -2.8 | 99.2 -0.8
23/5(100. 0 0.3 -0.1199.8 0. -0.2199.2 -0.1 -0.9 [102.6 0.8 2.9 197.4 -1. -3.4199.4 -0.2 -2.5
6 99.8 -0.2 -0.2 [99.5 -0.3 -0.21]99.1 -0.1 -0.8 [103.0 0.4 3.1197.2 -0. 4.2 199.4 0.0 -3.2
7 [100.1 0.3 0.7 |100.4 0.9 1.5 199.0 -0.1 -0.9 |103.7 0.7 3.6 197.1 -0.1 -3.1[98.5 -0.9 1.2
8 (100.0 -0.1 0.3199.7 -0.7 -0.7198.9 -0.1 -1.1 [104.2 0.5 3.6 195.8 -1.3 -2.9 [97.1 -1.4 1.1
9 99.7 -0.3 -0.1 (98.7 -0.9 -1.8 |98.9 0.0 -1.0 |104.6 0.4 3.6 |196.2 0.4 -3.5 |101.8 4.8 0.0
10 |100.0 0.3 0.1 |100.4 1.7 0.4 198.9 0.0 -0.4 |104.8 0.2 3.8 197.1 1.0 -1.9 (101.7 -0.1 0.2
11 (99.4 -0.6 -0.3 |98.5 -1.9 -1.8198.9 0.0 -0.4 |106.1 1.3 5.4 196.2 -0.9 -2.8 [101.8 0.1 0.3
12 99.5 0.1 -0.1199.0 0.6 -0.6 [98.8 -0.1 -0.5 |106.3 0.1 5.7 193.9 -2.4 -3.8(99.9 -1.9 0.0
24/1 (100. 1 0.7 0.4 |101.4 2.3 0.7 198.8 0.0 -0.4 |106.1 -0.2 5.6 |100.0 6.4 1.2 {97.3 -2.6 -0.3
2 [100.1 0.0 0.5 |101.1 -0.3 0.5 198.8 0.0 -0.5 |106.1 0.0 5.4 199.6 -0.4 0.7 |197.6 0.3 0.2
3 [100.5 0.4 0.8 |101.2 0.1 1.0 [98.8 0.0 -0.5 |106.8 0.7 5.4 198.5 -1.1 -1.2 [97.9 0.3 2.0
4 (100.4 -0.1 0.7 199.8 -1.3 0.0 ]198.8 0.0 -0.5 |107.3 0.4 5.4 198.9 0.4 0.1 |100.5 2.7 1.0
5 [100.3 -0.1 0.3 [100.2 0.4 0.4 [98.7 -0.1 -0.5 [107.4 0.1 4.7 |98.0 -0.9 0.6 [99.3 -1.2 0.0
"o E R | & - BfF # B - - ¢
XA | XA XA | RRTAE XA | XA XA | RRTAE XA | XA
E£H | K (RA) |#8 ¥ (RA) ¥ (RA) |#8 ¥ (RA) ¥ (RA)
kR& bR*% kR% L= kR& bR*% kR% L= kR& bR*%
(%) (%) (%) (%) (%) (%) (%) (%) (%) (%)
VEXA 445 1409 261 1062 572
184E [ 101.8 -0.4 [100.4 -0.1 |124.6 0.7 |106.4 -1.3 199.0 -2.3
194E [[101. 5 -0.3 |100.4 0.0 |125.2 0.5 |105.1 -1.2 199.4 0.4
204F [ 101. 2 -0.3 [103.0 2.6 [125.7 0.4 [104.5 -0.5 [99.4 0.0
214 {1100. 0 -1.2 | 98.2 -4.7 |126.4 0.5 |102.0 -2.4 198.5 -0.9
22£|i 100. 0 0.0 |100.0 1.8 |100.0 -20.9 1100.0 -2.0 |100.0 1.5
234 [ 99. 2 -0.8 [102.0 2.0 [93.7 -6.3 | 96.0 ~4.0 |104.1 4.1
23/5(100. 2 0.8 -0.1 |103.0 0.2 1.7 193.7 -0.2 -0.2 |96.4 2.3 4.0 [104.1 -0.1 .6
6 [100.0 -0.1 -0.1 [102.5 -0.5 1.3 [93.7 0.0 -0.2 |96.4 0.0 -4.2 |[1040 -0.1 5.4
7 ]98.9 -1.1 -1.1103.2 0.7 3.1[93.7 0.0 -0.2|96.7 0.3 -3.6 |103.5 -0.5 5.0
8 99.0 0.0 -0.9 |103.6 0.4 3.8 193.7 0.0 -0.2 |97.6 1.0 -3.4 [104.0 0.5 5.7
9 [98.6 -0.3 -1.2(102.0 -1.5 2.7 (93.7 0.0 -0.2 [97.0 -0.6 -2.0 [103.9 -0.1 5.4
10 (98.5 -0.1 -1.8 |100.9 -1.1 2.0 193.7 0.0 -0.2196.5 -0.5 -2.6 [104.0 0.2 -0.7
11 |98.6 0.1 -1.1|101.3 0.4 2.2(93.7 0.0 -0.2|94.3 -2.3 -3.6 |104.5 0.4 0.0
12 (98.0 -0.6 -1.5 [102.3 1.0 2.4 193.7 0.0 -0.2193.9 -0.4 -4.2 |104.4 -0.1 0.1
24/11(98.7 0.7 -1.0 |102.6 0.3 2.3 193.7 0.0 -0.2192.9 -1.1 -3.8 |104.2 -0.1 -0.2
2 [98.4 -0.4 -1.4 {1020 0.7 1.9 [93.7 0.0 -0.2 |94.9 2.3 -1.2 1041 -0.2 -0.1
3 98.2 -0.2 -1.0 [103.6 1.6 1.5 [93.7 0.0 -0.2 |95.8 0.9 -0.3 [104.2 0.2 0.2
4 [98.6 0.4 -0.9 {1043 0.7 1.5[943 0.7 0.5[95.6 -0.2 1.4 [1043 0.1 0.2
5 [98.5 -0.1 -1.7 [103.4 -0.9 0.3 [943 0.0 0.7 |96.1 0.5 -0.4 [1040 -0.3 0.0
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SRk 2245 =100
ES &5 B T By g i
= =] =y =] =y =]
WE . pe pps | BE D ppe ipe | BE Lae bow
(%) | (%) (%) | (%) (%) | (%)
SR 184 100. 7 0.3 100. 8 -0.4 100. 0 0.5
19 100. 7 0.0 100. 6 -0.2 100. 1 0.1
20 102. 1 1.4 102. 4 1.8 101. 7 1.6
21 100. 7 -1.4 101.1 -1.3 100. 5 -1.2
22 100. 0 -0.7 100. 0 -1.1 100. 0 -0.5
23 99. 7 -0.3 99. 8 —0. 2 99.6 -0.4
R 234: 5 H 99.9 0.0 -0.4 100. 0 0.3 -0.1 99.7 0.0 -0.6
6 99.7 0.2 -0.4 99.8 -0.2 -0.2 99.5 -0.2 -0.3
7 99.7 0.0 0.2 100. 1 0.3 0.7 99.7 0.2 0.3
8 99.9 0.1 0.2 100. 0 -0.1 0.3 99.9 0.1 0.0
9 99.9 0.0 0.0 99.7 -0.3 -0.1 99.8 -0.1 0.0
10 100. 0 0.1 -0.2 100. 0 0.3 0.1 100. 0 0.2 -0.3
11 99.4 0.6 -0.5 99.14 -0.6 -0.3 99.6 -0.4 -0.3
12 99.4 0.0 -0.2 99.5 0.1 -0.1 99.7 0.1 0.4
R 244 1 H 99.6 0.2 0.1 100. 1 0.7 0.4 100. 3 0.6 1.1
2 99.8 0.2 0.3 100. 1 0.0 0.5 100. 0 -0.3 0.8
3 100. 3 0.5 0.5 100. 5 0.4 0.8 100. 4 0.4 0.9
4 100. 4 0.1 0.4 100. 4 -0.1 0.7 100. 3 -0.1 0.6
5 100. 1 -0.3 0.2 100. 3 -0.1 0.3 100. 1 =0. 2 0.4
fif] (L ifi IS I i (L [N [ifi
T | A T T A T | A
£ A | #B% (MR) | 8 % (MR) | 8 % (I711)
LRk R LRk R LRk R
(%) | (%) (%) | (%) (%) | (%)
S 184 100. 5 0.4 100. 3 0.2 101.5 -0.1
19 100. 8 0.3 100. 4 0.1 100.9 -0.6
20 102.5 1.7 102. 3 1.9 102. 3 1.4
21 100. 8 -1.7 101.0 -1.3 100. 7 -1.6
22 100. 0 -0. 8 100. 0 -1.0 100. 0 -0.7
23 100. 1 0.1 100. 1 0.1 99. 4 -0.6
pk234E 5 H 100. 3 0.1 0.3 100. 2 0.1 -0.1 99.9 0.1 -0.2
6 100. 0 -0.3 0.1 100. 2 0.0 0.1 99.5 -0.4 -0.6
7 100. 2 0.2 0.9 100. 3 0.1 0.9 99.6 0.1 0.0
8 100. 2 0.0 0.7 100. 1 -0.2 0.7 99.5 -0.1 -0.3
9 100. 3 0.1 0.3 100. 2 0.0 0.1 99.4 0.0 -0.5
10 100. 6 0.2 0.3 100. 2 0.0 0.0 99.3 -0.1 -1.0
11 100. 0 -0.5 -0.1 99.7 -0.5 -0.3 98.8 -0.5 -1.1
12 99.7 0.3 -0.3 99.6 -0.1 -0.5 98.7 -0.1 -0.8
k244 1H 100. 0 0.3 0.2 100. 0 0.4 0.0 99.2 0.5 0.0
2 100. 1 0.0 0.2 100. 2 0.3 0.1 99.3 0.1 -0.1
3 100. 3 0.2 0.1 100. 8 0.6 0.7 99.6 0.3 0.0
4 100. 3 0.0 0.1 100. 5 -0.3 0.3 100. 0 0.4 0.2
5 100. 3 -0.1 -0.1 100. 2 -0.3 0.0 99. 7 -0. 2 -0. 2
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T RE LR [E LA R
#: fg % gfﬂ; %Uﬂ B R | AL | H | %W | K| @& &]®BE]|F
fo| < g i | # e 5
£ | B[ o i e
A I e i
< | TFE || K . &
| ®ler| T ok
e lalazlavial T e | w | | | @ |\ [ s |w |68 | wm | & | 8| ®\]| &
23/5 {100.0 [{100.0 [100.1 |100.1 | 99.2 [ 99.8 : 99.9 i100.8 : 98.2 103.3 { 94.2 {109.5 : 99.3 { 99.6 { 99.8 {100.1 :100.1 i 99.9
6 99.8 [ 99.9 [ 99.9 |100.0 [ 99.1 | 99.5 { 98.2 { 98.6 : 98.2 {101.3 { 96.2 {106.1 {100.8 { 99.4 { 99.9 {100.8 { 99.8 | 99.9
7 1100.1 [100.0 [100.3 |100.1 | 99.0 |100.4 :100.0 {104.0 : 98.6 {101.8 : 98.8 {101.5 {102.7 | 99.9 {100.3 {100.4 { 99.3 | 99.9
8 |100.0 [100.1 |100.2 [100.3 | 99.1 | 99.7 {101.7 :107.2 { 98.6 { 99.3 { 93.2 { 95.8 {102.3 { 99.9 | 99.1 { 99.7 : 99.1 {100.0
9 99.7 [100.0 | 99.8 |100.1 [ 99.1 | 98.7 {101.7 { 98.7 : 96.5 { 99.0 : 98.8 : 84.4 :102.7 | 98.5 i{100.0 {100.0 { 98.9 :100.0
10 |100.0 | 99.8 |100.1 {100.0 | 99.0 (100.4 {101.3 | 96.6 { 97.5 { 99.0 i110.2 { 95.3 {102.7 { 99.6 {100.6 | 99.4 : 98.7 {100.0
11 99.4 1 99.8 [99.5]99.9 [ 98.9 | 98.5 i100.4 { 96.8 : 99.1 { 98.4 { 94.9 | 88.7 i102.3 | 99.5 i{100.1 | 99.6 i 98.8 {100.0
12 99.5 1 99.7 199.5]99.9 [ 98.6 | 99.0 {100.0 { 99.3 { 99.1 { 98.7 { 91.6 | 96.4 i{102.7 {100.2 {101.3 {100.6 { 99.5 | 99.9
24/1100.1 | 99.8 [100.3 | 99.9 | 98.7 [101.4 i101.9 i102.3 : 98.2 | 98.1 i104.3 {113.7 1102.0 i100.6 i100.1 {100.4 : 99.4 i100.0
2 |100.1 [ 99.9 |100.3 [100.0 | 98.9 [101.1 {101.9 | 98.3 { 98.7 { 98.7 i104.3 {115.2 {102.0 {100.3 :100.8 { 98.7 : 99.6 | 99.9
3 100.5 [100.2 [100.7 |100.4 | 99.0 |101.2 :102.4 {101.4 : 98.2 { 99.2 :103.0 {115.7 $102.4 | 98.5 i{101.1 { 99.3 { 99.1 | 99.9
4 |100.4 [100.5 |100.6 [100.7 | 99.2 | 99.8 {102.1 {100.9 { 99.0 { 98.8 { 98.3 { 99.8 { 98.8 { 98.2 {101.0 { 99.5 1100.2 | 99.9
5 [100.3 {100.3 [100.5 |{100.5 | 99.1 |100.2 :101.7 :100.6 : 98.5 : 98.8 : 97.5 {110.0 : 98.5 : 98.3 {101.1 : 99.6 :100.2 :100.3
f % E3 "
4 Z | & B 7B F|a[R %8B |F X% || ~&
i w I iz . £ % n T
& 2 . * s
ot = 2 P * i %% H ﬂ% 7 [0}
i X r| = | Mt " | I /
e 2w A W e v | B
[ S N N B L A O S S A I - RS R
23/5199.2 :99.2 §99.9 |102.6 i101.2 {101.4 i128.6 i100.0 | 97.4 {97.2 { 91.1 i103.9 { 97.9 [ 97.2 1 99.5 | 99.4 103.7 {103.1 i 103.7
6 99.1 §99.1 {99.9 |103.0 {102.1 {101.8 i126.8 i100.0 [ 97.2 { 96.0 { 91.1 {104.2 { 99.8 { 96.0 { 99.5 | 99.4 i104.2 {105.9 | 104.1
7 99.0 £ 99.0 {99.9 |103.7 {103.3 {102.3 i127.7 i100.0 [ 97.1 { 95.1 { 90.6 {103.8 i{101.1 { 95.9 { 99.5 | 98.5 i103.7 {105.9 { 103.6
8 98.9 { 98.8 {99.9 |104.2 i104.4 {102.7 :126.8 i100.0 [ 95.8 { 90.3 { 88.7 :{103.8 :102.4 { 96.4 : 99.5 | 97.1 i102.9 :105.9 i 102.7
9 98.9 { 98.8 { 99.9 |104.6 :105.2 {103.3 :124.6 i100.0 [ 96.2 ; 92.3 { 86.8 {103.2 :101.4 ; 96.8 : 99.5 [101.8 :106.2 :105.9 : 106.3
10 98.9 {98.8 { 99.9 |104.8 (105.9 {104.2 :118.8 {100.0 [ 97.1 { 94.7 : 86.8 {108.4 {101.4 | 96.5 { 99.5 [101.7 i108.4 :105.9 { 108.5
11 98.9 { 98.7 i100.7 |106.1 {106.0 i104.8 :118.8 i104.7 | 96.2 { 92.7 { 82.7 {107.8 i101.2 | 97.0 { 99.5 [101.8 i108.9 105.9 i 109.0
12 98.8 { 98.7 i100.3 |106.3 {106.0 i105.1 119.7 i104.7 | 93.9 { 87.7 { 78.8 {103.2 {100.9 | 96.7 { 99.5 [ 99.9 i106.1 {105.9 { 106.1
24/1 1 98.8 : 98.7 i100.3 |106.1 {105.6 {105.0 i119.7 i104.7 [100.0 {101.5 i 81.3 {110.9 :104.2 { 97.9 { 99.5 | 97.3 : 99.8 i105.9 99.5
2 98.8 { 98.7 i100.2 |106.1 i105.6 {105.1 :119.7 i104.7 [ 99.6 ; 99.3 { 81.3 {109.1 {104.9 { 98.9 { 99.5 | 97.6 i100.6 :105.9 i 100.4
3 98.8 { 98.7 i100.2 |106.8 :105.8 {105.7 :127.2 {104.7 | 98.5 { 96.8 { 84.1 {108.9 {103.7 { 98.0 { 99.5 | 97.9 {101.8 :105.9 { 101.7
4 98.8 { 98.6 i100.9 |107.3 i106.3 {105.9 i130.8 {104.7 [ 98.9 | 97.5 { 84.6 {111.3 {104.7 { 97.1 { 99.5 [100.5 {104.7 {105.9 | 104.7
5 98.7 :98.5 i100.9 [107.4 i106.3 106.8 i128.6 (104.7 | 98.0 { 94.5 { 85.8 i111.3 i104.3 { 97.2 { 99.5 | 99.3 i103.4 {105.9 | 103.3
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23/51 95.6 1 99.6 i 87.7 i 95.7 i 97.0 i 99.2 |100.2 {101.2 i 98.4 {100.2 |103.0 i{100.7 i{105.2 i 99.6 | 93.7 i 94.3 i{100.1 i 92.3

7 93.1 94.9 ¢ 89.4 ¢ 95.9 { 94.9 ¢ 99.2 | 98.9 { 98.0 ¢ 97.5 :100.2 [103.2 :103.1 {105.2 ¢ 99.3 | 93.7 ¢ 94.3 :100. 1 92.3
8 89.3 i 89.5 i 89.0 { 95.9 i 94.5 :100.3 | 99.0 : 98.4 i 96.9 :100.2 |103.6 :106.3 :105.3 ; 99.3 | 93.7 : 94.3 {100. 1 92.3
9 99.3 i102.9 ¢ 92.4 { 94.8 i 99.2 {101.7 | 98.6 i 98.6 i 94.9 :100.2 |102.0 :101.1 :103.6 : 99.3 | 93.7 : 94.3 :100. 1 92.3
10 97.9 i101.5 ¢ 90.9 { 94.8 i 96.1 98.4 | 98.5 ¢ 98.1 96.2 i 99.7 [100.9 i100.8 i101.8 : 99.3 | 93.7 i 94.3 :100. 1 92.3
11 98.2 i100.7 : 93.3 : 92.5 i 95.0 :100.2 | 98.6 i 98.1 96.7 i 99.7 [101.3 {100.0 i102.2 :100.1 93.7 i 94.3 :100. 1 92.3
12 96.8 { 98.5 ¢ 93.3 { 92.4 i 90.9 :100.3 | 98.0 i 96.5 i 96.1 99.7 |102.3 :102.3 {103.5 i100. 1 93.7 i 94.3 :100. 1 92.3
24/1 | 97.1 99. 1 93.1 89.9 1 94.8 {1 99.5 | 98.7 i 98.3 { 96.5 i 99.9 |102.6 i102.3 i104.1 i{100.0 | 93.7 i 94.3 {100. 1 92.3
2 95.2 1 97.5 1 90.9 { 89.9 i 98.8 i101.7 | 98.4 i 98.0 : 95.0 : 99.9 |102.0 { 99.9 :103.6 : 99.5 | 93.7 : 94.3 {100. 1 92.3
3 94.9 1 96.4 { 91.8 { 90.5 { 97.9 i100.3 | 98.2 { 97.3 { 95.4 { 99.9 |103.6 {101.7 {106.0 { 99.5 | 93.7 { 94.3 {100. 1 92.3
4 99.9 :104.1 91.6 : 90.5 ¢ 97.9 {100.3 | 98.6 ¢ 97.7 { 96.2 :100.1 [104.3 {100.6 :107.4 ¢ 99.7 | 94.3 i 95.2 :102.7 | 92.3
5 98.4 i101.1 : 93.0 : 89.7 : 98.4 : 98.1 | 98.5 : 98.4 i 94.5 i100.1 |103.4 :100.9 :105.7 : 99.7 | 94.3 : 95.2 i102.7 i 92.3
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23/5 | 96.4 i 80.3 : 95.7 {100.3 | 99.3 [104.1 i 99.4 i 98.7 i{100.7 {126.2 i105.2 |106.7 | 94.9 | 96.6 |100.0

7 96.7 : 79.5 | 95.6 {100.3 i{100.0 [103.5 i 99.4 | 96.2 {100.3 i126.2 i105.2 [107.7 | 94.8 | 97.2 [100.0
8 97.6 | 76.5 | 96.1 {100.4 :{102.2 [104.0 { 99.4 { 98.5 {100.0 {126.2 {105.2 [108.1 | 94.8 | 98.5 [100.0
9 97.0 { 80.5 { 95.5 {100.3 i100.4 [103.9 { 99.4 { 98.1 { 99.9 i126.2 i105.2 [107.1 | 94.8 | 97.2 [100.0
10 96.5 { 74.3 | 96.5 {100.3 :{100.5 [104.0 { 99.4 { 98.8 {100.0 {126.2 {105.2 [105.7 | 94.8 | 96.7 [100.0
11 94.3 ¢ 71.3 | 92.8 {100.4 { 98.5 [104.5 { 99.4 {100.4 {101.0 i126.2 i105.2 [105.8 | 94.8 | 94.5 | 99.6
12 93.9 : 68.2 | 95.5 {100.5 { 97.5 [104.4 { 99.4 | 99.4 {102.5 {126.2 {105.2 [107.2 | 95.0 | 94.5 | 99.6
24/1 | 92.9 | 62.3 | 95.9 {100.5 | 96.8 |104.2 | 99.4 | 98.8 {102.5 {126.2 [105.2 [107.1 | 95.2 | 93.5 | 99.5
2 94.9 { 82.4 | 95.5 {100.5 { 96.3 [104.1 { 99.4 | 98.4 {101.4 {126.2 {105.2 [106.6 | 95.0 | 95.1 | 99.6
3 95.8 | 82.7 1 97.3 {100.6 { 97.1 [104.2 { 99.4 | 98.8 {102.1 {126.2 {105.2 [109.8 | 95.1 | 96.2 | 99.5
4 95.6 { 79.3 | 96.7 {100.7 { 97.6 [104.3 | 99.4 | 99.3 {102.1 {126.2 {105.2 |111.5 | 95.6 | 95.7 | 99.5
5 96.1 { 79.1 | 94.2 1100.8 { 99.4 [104.0 { 99.4 | 98.2 {101.8 i126.2 i105.2 [109.8 | 95.7 | 96.3 | 99.5




